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Moswer ALL Ciestions:
. . i * . .

P badahe positive of v x = 2x - 0w -0 by Biseetion methiodd,
Iy Gl Jonsbn elamiaation methand, how swe can write 8, aeid 72,
Vo Detie Eatrapolation,
Lo Wote dhawn the vanious meastes ol centeal temlency,
S b the Cosellicient Tor e following data,

X 1] 5 9 12 11

SECTHN -B(SN 4 =20}

Ausner ALL Questions:
i) Solve the equation &' ex" 10 Jor the positive root by itetition method.
(OR)
by Solve fora positive oot of 1 Ay #1720 by Repula Fatsi Method.

1. a) Solve the system ol equation by Giuss Elimination Methaod |
N 2paz o3 2 dpeadz S0 - 2213,
(OR)
1) Solve the Tollowing system by wianpularization method.
Xty o=l Avadr o=t AvaeSyidz=4,

K. ) Using Lagrange™s imerpolation formula Lind }‘(HJ] from the following table.

5 lc. ]t: [ n l
12113 e
(OR)
) Find the values of 3ot ¥ = 21 from the following, data,
|20 23 20 29

vi | 03420 | 03907 | 00384 ] 0848 I
9, ap Find the arithmetic mean by step deviation method nwarks:

20 30 Bl 50 of) 70 80 90 0
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| &
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(OR)
by Find the median from the following data. ]
Wages Rs: ’ 50 },75 100 | 150 ] 250 | Total
Na of Labourers: s [1alw |s |3 " fao

10, a) Find the quartile deviation for the Tollowing duta,
391,38,591,407,672,522, 777,733, 1190, 2488,
(OR)
by Find mein deviation for the fullowing data:
EIRIRRERE: | 10
fe e jalolan

SECTION - C(IX 15 = 45)

Amwer any THREE Questions:
- . L] - . . - - -
1. Assuming that o rootal’ X' =9x 4+ 1= 0 livs in the interval {2.4). Tind that root by biseetion method.

12 Salve the Tlloaswing systenn by Gauss-Jacobi Methad,
l0x Sy 2o 3oy 10pE 3z =30 x40p4 102 -3
i Frone the data piven Delow, Tl the value of ¥ when ¢ = 13,5,
Cxo (wi (902 | 1000 I 101.27] 108.7
Lo s fazse DLt 1707 | o
F i the Nuein . Medionand Mode,
Salary (i) ioxs s8]
S of Pereons | 1 | 25

K10 [ 105 | 1s200) 20300 ] 3050 [ et |
52 173 ws | ot | e ] 420

1 adenkate the Stndard Deviation ol the Tolbowing sevies.
U ranl stindents in 00°s (Heln ) 2 [a m} s |
Iatvnal t lJ“Ul*L‘\ 1 14 ! B ] I 1)
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